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    m|ferkm|ferkm|ferkm|ferk    
ENTREPRENEURSHIP 

HkkxHkkxHkkxHkkx – I
PART – I 

¼vkRefu"B iz'u½¼vkRefu"B iz'u½¼vkRefu"B iz'u½¼vkRefu"B iz'u½    
(Subjective Questions) 

ACADEMIC/OPEN 

[ fgUnh ,oa vaxzsth ek/;e ]

[ Hindi and English Medium ] 

(Only for Fresh/Re-appear Candidates) 

le;le;le;le; : 2
2
1  ?k.Vs?k.Vs?k.Vs?k.Vs    ] [    iw.kk±diw.kk±diw.kk±diw.kk±d : 60 ¼Hkkx¼Hkkx¼Hkkx¼Hkkx–I : 30,    HkkxHkkxHkkxHkkx–II : 30½½½½

Time allowed : 2
2
1  hours ] [ Maximum Marks : 60 (Part–I : 30, Part–II : 30) 

iz'u&i= iz'u&i= iz'u&i= iz'u&i= nksnksnksnks    Hkkxkas eas foHkkftr gS % HkkxHkkxkas eas foHkkftr gS % HkkxHkkxkas eas foHkkftr gS % HkkxHkkxkas eas foHkkftr gS % Hkkx–I    ¼vkRefu"B¼vkRefu"B¼vkRefu"B¼vkRefu"B½ ,oa Hkkx½ ,oa Hkkx½ ,oa Hkkx½ ,oa Hkkx–II    ¼oLrqfu"B½A ijh{kkFkhZ dks nksuksa Hkkxkas ds iz'ukas ¼oLrqfu"B½A ijh{kkFkhZ dks nksuksa Hkkxkas ds iz'ukas ¼oLrqfu"B½A ijh{kkFkhZ dks nksuksa Hkkxkas ds iz'ukas ¼oLrqfu"B½A ijh{kkFkhZ dks nksuksa Hkkxkas ds iz'ukas 
ds mÙkj dksds mÙkj dksds mÙkj dksds mÙkj dks    viuhviuhviuhviuh    mÙkjmÙkjmÙkjmÙkj&&&&iqfLrdk eas fy[kuk gSA iz'u&i= dk HkkxiqfLrdk eas fy[kuk gSA iz'u&i= dk HkkxiqfLrdk eas fy[kuk gSA iz'u&i= dk HkkxiqfLrdk eas fy[kuk gSA iz'u&i= dk Hkkx–I    ijh{kk vkjEHk gksus ij igys mÙkj&iqfLrdk ijh{kk vkjEHk gksus ij igys mÙkj&iqfLrdk ijh{kk vkjEHk gksus ij igys mÙkj&iqfLrdk ijh{kk vkjEHk gksus ij igys mÙkj&iqfLrdk 
ds lkFk fn;k tk,xk rFkk ds lkFk fn;k tk,xk rFkk ds lkFk fn;k tk,xk rFkk ds lkFk fn;k tk,xk rFkk HkkxHkkxHkkxHkkx–II    ds fy, vkf[kjh dk ,d ?kaVs dk le; fn;k tk,xkds fy, vkf[kjh dk ,d ?kaVs dk le; fn;k tk,xkds fy, vkf[kjh dk ,d ?kaVs dk le; fn;k tk,xkds fy, vkf[kjh dk ,d ?kaVs dk le; fn;k tk,xk    vFkkZrvFkkZrvFkkZrvFkkZr~~ ~~    ijh{kk lekIr ijh{kk lekIr ijh{kk lekIr ijh{kk lekIr 
gksus ls ,d ?kaVk iwoZ ijh{kkFkhZ dks Hkkxgksus ls ,d ?kaVk iwoZ ijh{kkFkhZ dks Hkkxgksus ls ,d ?kaVk iwoZ ijh{kkFkhZ dks Hkkxgksus ls ,d ?kaVk iwoZ ijh{kkFkhZ dks Hkkx–II    dk iz'udk iz'udk iz'udk iz'u&&&&i= fn;k tk,xkAi= fn;k tk,xkAi= fn;k tk,xkAi= fn;k tk,xkA    

HkkxHkkxHkkxHkkx–I    ds iz'u&i= esa dqy ds iz'u&i= esa dqy ds iz'u&i= esa dqy ds iz'u&i= esa dqy 9    iz'u ,oa Hkkxiz'u ,oa Hkkxiz'u ,oa Hkkxiz'u ,oa Hkkx–II    ds iz'u&i= eas dqy ds iz'u&i= eas dqy ds iz'u&i= eas dqy ds iz'u&i= eas dqy 30    iz'u gSaAiz'u gSaAiz'u gSaAiz'u gSaA    

Question paper is divided into two Parts : Part–I (Subjective type) and Part–II 

(Objective type). Answer the questions of both parts in your answer-book. Part–I 

of question paper with answer-book will be provided with starting of 

Examination and last one hour of Examination will be given for Part–II i.e. 

question paper of Part–II will be provided before one hour of the end of 

Examination. 

Total questions in question paper of Part–I are 9 and of Part–II are 30. 

•••• Ñi;k tk¡p dj ysa fd HkkxHkkxHkkxHkkx–I ds bl iz'u-i= esa eqfnzr i`"B 4 rFkk iz'u 9 gSaA 
Please make sure that the printed pages in this question paper of Part–I are 4 in

number and it contains 9 questions.
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•••• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 

 The Code No. on the right side of the question paper should be written by the 

candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

General Instructions : 

    (i)    lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

        All questions are compulsory.    

    (ii) izR;sd iz'u ds vad mlds lkeus n'kkZ;s x, gSaA 

        Marks of each question are indicated against it. 

 (iii) vkids mÙkj vadkuqlkj gksus pkfg,A 

  Your answer should be according to marks. 
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[ fucU/kkRed iz'u fucU/kkRed iz'u fucU/kkRed iz'u fucU/kkRed iz'u ]    

[ Essay Type Questions ] 

uksV %uksV %uksV %uksV %  iz'u la[;k 1 ls 3 rd fucU/kkRed iz'u gSaA izR;sd iz'u 5 vadksa dk gSA 

  Question Nos. 1 to 3 are essay type questions. Each question carries 5 marks.  

1. okrkoj.k ds lw{e v/;;u dks izHkkfor djus okys ?kVdksa dk o.kZu dhft,A 5 

Explain the factors affecting scanning of Environment. 

vFkokvFkokvFkokvFkok    

OR 

ifjos'k Øeoh{k.k D;k gS \ blds egÙo dk o.kZu djsaA 

What is Environment scanning ? Discuss its importance. 

2. fu;kstu D;k gS \ fu;kstu dh izfØ;k esa iz;qDr pj.kksa dk mYys[k djsaA 5 

What is planning ? Explain steps involved in planning process. 

vFkokvFkokvFkokvFkok    

OR 

dk;Z'khy iw¡th dh ifjHkk"kk nhft,A O;olk; ds fy, dk;Z'khy iw¡th D;kas vko';d gS \ 

Define working capital. Explain, why the working capital is needed for the 

business ? 

3. lEizs"k.k D;k gS \ fyf[kr lEizs"k.k dh fofHkUu fof/k;ksa dk mYys[k dhft,A 5 

What is Communication ? Explain various modes of written communication. 
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[ y?kq mÙkjh; iz'u y?kq mÙkjh; iz'u y?kq mÙkjh; iz'u y?kq mÙkjh; iz'u ]    
[ Short Answer Type Questions ] 

uksV %uksV %uksV %uksV %  iz'u la[;k 4 ls 6 rd y?kq mÙkjh; iz'u gSaA izR;sd iz'u 3 vadksa dk gSA 
  Question Nos. 4 to 6 are short answer type questions. Each question carries    

 3 marks. 

4. ifj;kstuk fjiksVZ ds eq[; rÙo dkSu&dkSu ls gSa \ 3 
What are the main elements of Project Report ? 

5. ,d m|e ds rhurhurhurhu vk/kkjHkwr lalk/kuksa dk mYys[k djsaA 3 
Explain three basic resources for an enterprise. 

6. lrr~ fodkl dh vo/kkj.kk dks le>kb,A 3 
Explain the concept of sustainable development. 

[ vfry?kqvfry?kqvfry?kqvfry?kq mÙkjh; iz'u mÙkjh; iz'u mÙkjh; iz'u mÙkjh; iz'u ]    
[ Very Short Answer Type Questions ] 

uksV %uksV %uksV %uksV %  iz'u la[;k 7 ls 9 rd vfry?kq mÙkjh; iz'u gSaA izR;sd iz'u 2 vadksa dk gSA 

 Question Nos. 7 to 9 are very short answer type questions. Each question 
carries 2 marks. 

7. fodkl dks izHkkfor djus okys fdUgha nksnksnksnks  ?kVdksa dk o.kZu djsaA 2 
Discuss the two factors affecting growth. 

8. LFkk;h iw¡th ds dksbZ nksnksnksnks  òksr crkb,A 2 
Discuss any two sources of fixed capital. 

9. m|e ds miHkksDrk ds izfr mÙkjnkf;Ro crkb,A 2 
State the responsibility of an enterprise towards consumers. 

S 
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Code No. 5634 CLASS : 12th (Sr. Secondary) 

Series : SS-April/2022
Roll No. 

m|ferk    

ENTREPRENEURSHIP 

HkkxHkkxHkkxHkkx – II
PART – II 

¼¼¼¼oLrqfu"BoLrqfu"BoLrqfu"BoLrqfu"B    iz'u½iz'u½iz'u½iz'u½

(Objective Questions) 

ACADEMIC/OPEN 

[ fgUnh ,oa vaxzsth ek/;e ]

[ Hindi and English Medium ] 

(Only for Fresh/Re-appear Candidates) 

•••• Ñi;k tk¡p dj ysa fd HkkxHkkxHkkxHkkx–II ds bl iz'u-i= esa eqfnzr i`"B 8 rFkk iz'u 30 gSaA 

Please make sure that the printed pages in this question paper of Part-II are 8 in

number and it contains 30 questions.

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the question paper.

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

Before answering the questions, ensure that you have been supplied the correct and

complete question paper, no claim in this regard, will be entertained after

examination.

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

General Instructions : 

(i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

All questions are compulsory.
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    (ii) iz'u Øekad 1 ls 30 rd oLrqfu"B ¼,d 'kCn ;k ,d okD;@cgqfodYih;/fjDr LFkku dh 
iwfrZ/lgh-xyr½ iz'u gSaA izR;sd iz'u 1 vad dk gSA lghlghlghlgh mÙkj viuh mÙkj&iqfLrdk eas fyf[k,A 

        Questions from 1 to 30 are objective (one word or one sentence/Multiple 

choice/fill in the blanks/true-false) type questions. Each question is of 1 

mark. Write correct answer in your answer-book. 

1. izR;{k izfr;ksfxrk D;k gS \ 1 

What is Direct Competition ? 

2. lgk;d izfrHkwfr D;k gS \ 1 

What is Collateral Security ? 

3. vizR;{k ykxrksa dk mnkgj.k nhft,A 1 

Give examples of Indirect Costs. 

4. ek¡x dk v/;;u djuk] cktkj vkdyu dk fgLlk ugha gS \ ¼lgh@xyr½¼lgh@xyr½¼lgh@xyr½¼lgh@xyr½ 1 

Study of demand is not a part of market assessment. (True/False) 

5. m|eh gksrk gS % 1 

(A) volj <w¡<us okyk (B) volj x¡okus okyk 

(C) volj nsus okyk (D) buesa ls dksbZ ugha 

Entrepreneur is an opportunity : 

(A) Spotter (B) Loser 

(C) Giver (D) None of these 
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6. mRikn ;k lsok dk u;k mi;ksx fudkyuk ----------- fopkj gSA ¼¼¼¼fjDr fjDr fjDr fjDr LFkku Hkjsa½LFkku Hkjsa½LFkku Hkjsa½LFkku Hkjsa½ 1 

Finding a new use of a product or service is a ……….. idea. (Fill in the Blank) 

7. mUufr dks cuk, j[kus ds fy, t:jh gS % 1 

(A) izfrHkk  (B) dk;Zokgh 

(C) rduhd (D) ;s lHkh 

Sustainable development needs : 

(A) Talent (B) Action 

(C) Technique (D) All of these 

8. fopkj {ks= dgykrk gS % 1 

(A) tkx:drk {ks= (B) gfjr {ks= 

(C) 'kq"d {ks= (D) buesa ls dksbZ ugha 

Idea fields are called : 

(A) Awareness field (B) Green field 

(C) Dry field (D) None of these 

9. ,d deZpkjh dh HkykbZ o lqj{kk oS/kkfud ?kVuk gSA               ¼lgh xyr½¼lgh xyr½¼lgh xyr½¼lgh xyr½ 1 

Welfare and safety of employee is a legal activity.   (True/False) 

10. voljksa dks fpfUgr djuk m|ferk ;ksX;rk n'kkZrk gSA   ¼lgh xyr½¼lgh xyr½¼lgh xyr½¼lgh xyr½ 1 

Spot opportunities indicates entrepreneurial ability.   (True/False) 
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11. deZpkfj;ksa ds izfr fuEu mÙkjnkf;Ro gSa %    1 

(A) fuos'k dh lqj{kk  

(B) fuos'k ij fu;fer izfrQy nsuk 

(C) mfpr eqvkotk iznku djuk  

(D) mijksDr lHkh 

Responsibility towards employees are : 

(A) To ensure safety of investment  

(B) To ensure regular return on investment 

(C) To provide fair compensation 

(D) All of the above 

12. fofo/khdj.k] o`f) dks cuk, j[krk gSA ¼lgh xyr½¼lgh xyr½¼lgh xyr½¼lgh xyr½                        1 

Diversification, sustains growth.  (True/False) 

13. iw¡th <k¡pk ----------- dk vuqeku gSA ¼¼¼¼fjDrfjDrfjDrfjDr    LFkku HkjsaLFkku HkjsaLFkku HkjsaLFkku Hkjsa½½½½                        1 

Capital structure is a ratio of ………… .  (Fill in the blank) 

14. m|eh dks cht/ku (Seed money) dk izcU/k djuk pkfg, % 1 

(A) lkW¶V _.k (B) _.k&i=ksa }kjk 

(C) va'kksa }kjk (D) mijksDr lHkh 

The entrepreneur should arrange 'Seed money' through : 

(A) Soft loan (B) Debentures 

(C) Shares (D) All of these 
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15. dkSu&lk foÙkh; ik'oZ dk Hkkx gS \  1 

(A) ykxrsa  (B) ifjogu 

(C) ekuo'kfDr (D) buesa ls dksbZ ugha 

Which is part of financial profile ? 

(A) Costs (B) Transport 

(C) Manpower (D) None of these 

16. iz'kklfud LVkQ iznku djrk gS % 1 

(A) dPpk eky (B) lEizs"k.k 

(C) fufeZr oLrq,¡ (D) iSfdax lkeku 

Administrative staff provides : 

(A) Raw-material (B) Communication 

(C) Finished goods (D) Packing material 

17. vfHkizsj.kk] Lo;a izcU/ku dk Hkkx gSA ¼lgh xyr½¼lgh xyr½¼lgh xyr½¼lgh xyr½                        1 

Motivation, is a part of self management. (True/False) 

18. lghlghlghlgh dFku dk pquko dhft, % 1 

(A) m|eh ifj;kstuk dk pSfEi;u ugha gS  

(B) m|eh ifj;kstuk dk pSfEi;u gS 

(C) m|eh volj x¡okrk gS  

(D) buesa ls dksbZ ugha 
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Select the correct statement : 

(A) Entrepreneur is not a project champion 

(B) Entrepreneur is a project champion 

(C) Entrepreneur lose the opportunities 

(D) None of these 

19. fLFkj ykxrsa izfr bdkbZ fLFkj jgrh gSaA ¼lgh xyr½¼lgh xyr½¼lgh xyr½¼lgh xyr½                        1 

Fixed costs remain fixed per unit.  (True/False) 

20. ICICI dk iwjk :i fyf[k,A 1 

Write full form of ICICI. 

21. dk;kZy; ifji= fyf[kr lapkj ds lk/ku gSaA ¼lgh xyr½¼lgh xyr½¼lgh xyr½¼lgh xyr½                        1 

Office circulars are the means of written communication. (True/False) 

22. ^O;kikfjd lk[k* nh?kkZof/k foÙk dk òksr gSA ¼lgh xyr½¼lgh xyr½¼lgh xyr½¼lgh xyr½                        1 

'Trade Credit' is a source of long-term finance. (True/False) 

23. ferO;;h vkns'k dh ek=k dk lEcU/k gS % 1 

(A) LdU/k  (B) deZpkfj;ksa ls 

(C) etnwjh ls (D) buesa ls dksbZ ugha 

'Economic order quantity' is related to : 

(A) Inventory (B) To employees 

(C) To wages (D) None of these 
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24. fuEu lw= dks iwjk dhft, % 1 

Complete the formula : 

miHkksx nj × vxzrk le; = ……………… 

Usage rate × lead time = ……………… 

25. pØh; iw¡th fdls dgrs gSa \ 1 

What is circulating capital ? 

26. fdlh bdkbZ dk LFkk;h iathdj.k dkSu iznku djrk gS \ 1 

Who provide the permanent registration of the unit ? 

27. cht /ku D;k gS \ 1 

What is seed money ? 

28. fuEu lw= dks iwjk dhft, % 1 

Complete the following formula : 

dkj[kkuk ykxr = ewy ykxr + …………… 

Work cost = Prime cost + …………… 

29. dkSu&lk LokWV dk Hkkx ughaughaughaugha  gS \ 1 

(A) pqukSfr;k¡ (B) volj 

(C) bPNk  (D) 'kfDr;k¡ 
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Which is not a part of SWOT ? 

(A) Threats (B) Opportunities 

(C) Willingness (D) Strength 

30. orZeku oLrqvksa dk u;k cktkj <w¡<uk gS % 1 

(A) lsok {ks= fopkj (B) l`tukRed fopkj 

(C) cktkj lapkfyr fopkj (D) buesa ls dksbZ ugha 

Finding new market for existing products is a : 

(A) Service sector idea (B) Creative idea 

(C) Market driven idea (D) None of these 

S 
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